- MG\‘U/\ a .
o ablwhlew 1,005 8T X : VJAMK
o Blfbagl s 28 S | 10, 0T 35 00 ? 42@/ e
- _ Oinafural #; 4 8, '11'5,3. e . o
) - djintenecs : 2 3 -, (9,025 _ i
o etrewtlong| ¢ J'“s— [Ofﬁb[gobl e - -
1C) real % 1 LY ? 1,0, J’ G_Sj b, \ 0I001000I 25
w3 FOYE ?f)trkf“
. by 9 b) ¥4 ) 44
S 1 )2 Koo
N dtL\Fﬂ 15 iy fivn ) ol) | ,@) E%ﬂ-
N R sholfied ___e)), o) '153‘""‘ for oh _
e B)| )1t
______ 9)-| -
o _ 3 . 1) “"13;"055; “030 ~0.300-0}
SR, W 1" | =Y, | 9‘6)14% e '
7 bt  al) 7
r =00 ‘C) Ld _ lo)>
WS EOS A7 ) < _
_ __ b e 3 A=
I e= 20 O £) - - )
R - __a h) 253
o) a9 o) > b)i%¢
- 26 = b4 ) b) & > o)q(f
i S 0) < 0)°6.283
3= h) > e,)—?‘—
- G? 32 {36 G\BB 1@ \ 4/% _
. G B2 Iy ?f"/a(,
m=of (175 ) b _. __ -~
N N2 al2) %
V22 5.3 Q) o b)-(3¢,53
] 1)<F RO )-wzs
. O sz 3y 9) 35 -5t
S B5 0 SR =201 ¥ ol
AY S~ o



lgyang
Pencil

lgyang
Pencil

lgyang
Pencil

lgyang
Pencil


@ 0% e = 103G em = 0,075 m

Moz 9o 0.1eTs
= 14 ™,

g5 m .
\%5{ et

= ol i
7™ Blabrg k.
= %+x

K2t

£ s, 20) 1|z 650+ 0.084.
MElz s 0%0) U 424) O
b4 b) -1 i
o Q/) 5¢/1 = - - 0 R
ity = R e ol
98 g T e
% - g2 e 626) e =)
D SR ) Oy -2A-
W) M2/ g5 Sorty Dl _
| T G s)pe &?\:D 3)(19 +7J icsie
0) egepsofsope vl
| Gl 1@) \T@( Zx Q) TKy-3% e
3] 36,4360 L) u, F3 ety
b) \b,2l,26 I N7 s S ) abwwbmb _be —ab
I Yé, 92,118 0\ =4 .
i 6)):?: 25 02%) oyt
o 18) 35| b) 12T 5
by 2] ©) 2072 87 :
c,) 'bﬁrb s : : s
e Gllusag o o
all) wo b b) PPy -54x°
b yes s o . %% il
()| n® | ¥, 83" y2* eyt
Hi e


lgyang
Pencil

lgyang
Pencil

lgyang
Pencil

lgyang
Pencil


),

’}K U,)(\ﬁ‘l'sb
ﬁ)ﬁﬁf “Bx 417

e ‘8)—3»)&?'_‘1:3,3,7 : W

____IL@) 2",2‘ A 4
by 3 +brHlz
S L

35) 5294 00w (B50-54m)

= 519t 0,045 (3350)
e _.47 mlade.

30@ m . OT \mg_'_ RN 7
Sl‘a(*soH 315(15’)7( 11675' o

|
i

A150 + H¥TSy= [2b15

PAREE L L

N

~‘1790 =60 ;

Qg A5

= Foa T e
e 31M33__up i Ghe worked |y OT, ifenes
St S {() worlchoo k.
g ___‘_ er T o) %Oﬁwh ol s—) (sHo) =
e =l1720 + bo (%)
b) 12 - e B
. c/) b = $\147,20, = e =
d) ¢ e
et e i Lf‘) Let 4 Ve ves. pay rate 2
= 79) $52350 Rog + 0T < 123 e
= 19 vk 4+ 05 )A = (123 e
o A e isnag 394 + 1np =lzy = 1
) £:3 % ) 114 = 2%
. 43 P
_o3b) $i58r o S
B by $1400,(] Ridey's woge 1S 13?74["'/'!\

: by $2q1006%

dsi/n

13) 36750 Sk = .‘i?lLHS ‘ré peql_u, p.enoJ
bzt $upyte . 59,10

e | per hour'

VR 375 smper
e N *iﬂqiéh_mtm%_,,

Lwaky 312 bt fL h

P&Bi RQQ + QT __N(K T e
\L\U) % £ \q 10 (3)5 -

= $lboukb



lgyang
Pencil


}) T=Prt

5 5v) Gimple [wtecest

. =5 90(0 0379)[ I:P‘*— P‘:P{'I—,

) "'$ 6_2'{5[)/, Let Pl fn(ﬂm\ inVegrment
| | CPrr‘nc{Pm[)

7 T2 A=3P & A-peI
Hovg =200 +3 20002200 (105) ¢ B e A
T2 e Tlhot _ 271

t- %—  Mafeabet
\7'§Vl (z P)=Fr% ‘
AT Lﬁ_oh 45625 o\«ys,, S e
“ily/ TN
3p = £
Lfﬂ ix 6 % 0"2? = &
/500 0 =06 %, The iattest ke is 257,

YOy T=prt Qo let’s say for 1 year,
" 154, 3=P (0.025)

0y
P= $bi5420,,

Ltﬂ;q P(S )™

e 0076‘)%3)'

bron ( [.olg:a

-

= blop (Lz4A71(377)

=4
1745 gt/

Lf?) A F( rJ

= 36‘5 %’L 30 e

) kP (1
—P((lOL\’nB "

m\ﬁ r’L Sh 0, \u\

M oL e

il lo%%ns)

% ?

are W “j

&5 w\% \‘IU

Cuhvaumhﬂ\ \V\wkl \y 15 b&H{l’



S S—

cuy'}) Lo« Lf

| | 55) vgo +247c<zo®

DET. L e e S e
g;; 55 5 1M =
: ,mﬁlﬂ/ﬂ s AsetiERd . 3
£13%9s : (o‘:!joenp e (n allend | ——
- __33 il - = the quO\ dianer, i
h 075 S . :
: 1; b SQ Meqn : ﬁj— m Lf .
R medlap: w_}a - 25
B mode - 74 ik
il o e S et
my3  9F) tyaggemic aten ol
S dlw[ace/ gRliee = e =
%) 181,193,125 irrplgula,LSﬁJe/__w________._ o
_3) (5 qenns of afe 658) 1H AT 2H 2T 34 o
esoe i MH 4T &H 5T 6H 6T
s bl CaE e
b) X ¢-10 %é;—_;* e =
: e 59) 1-0.45 = 055~ )
,,,,,(’) X(\"SF <& 5 bt { —_—— R = = St
g nee. s M Srees | abo) T
d) X< - - ﬁ e NI o) Pt re)
-2 as -24 13 AU SR | ‘P(F«N)
e _xé;—zg—mw‘;’} : ‘uWﬁ_ _I;}g‘r’/& =:§2g_ ““l‘ * 3-&
e T ,w.g - % o = J)Lz__e i
T T e GSET RGN S
e S 4@) LS%?_: l_%s ==
9 xzo iff,al § by 9139 -’0/3
$inally ong lll& = ' it il
5 I =) T _LO
- % W1z ’We SoﬂZ ST RO diEas @p s =
-] 0 |




Qa ) 0 0-

7 not ih

9
ou
en £
j -
0
K4
Ol 1
& 5
a,
% "

5

4°
c) g
s

%




	ma9rev1ans
	ma9rev2ans
	ma9rev3ans
	ma9rev4ans
	ma9rev5ans
	ma9rev6ans

